*7.10 Use (34} and the results of Example 7.1 1o find the inverse ransform of
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*7.14 For & given system described by the equation ¥ + 3y + 2y = ult), use the |

Laplace transform 1o find y{f) for ¢ > 0 when the input is u(t) = 5 for ¢ > O and

the initial conditions are y(0) = 1 and ${0) = —1. Skeich y(r).
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7.34 Sketch the time functions comesponding to each of the following Lapl
transforms.
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*7.35 Apply the initial-value and final-value theorems 1o find f(0+) and f(eq) for

each of the four transforms in Problem 7.7, If either theorem is not applicable (o &
particular transform, explain why this is so.
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